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General Instructions :

(1)

ead the following instructions very carcfully and strictly follow them :

ot This question paper comprises 39 questions. All questions are compulsory.
i

This question paper is divided into five sections — A, B, €, I and E.

(ii1)  Section A -
question carries 1 mark.

Questions No. 1 to 20 are Multiple Choice Questions. Each

Section B - Questions No. 21 to 26 are Very Short Answer Lype questions.

Each question carries 2 marks. Answer to these questions should be in the

Section C - Questions No. 27 to 33 are Short Answer type questions. Each

question carries 3 marks. Answer to these questions should in the range of

Section D - Questions No. 34 to 36 are Long Answer type questions. Each

question carries § marks. Answer to these questions should be in the range of

(iv)
range of 30 to 50 words.
(v)
50 to 80 words.
(vi)
80 to 120 words.
(vit)
(viit)

Section E — Questions No. 37 to 39 are of 3 source-based | case-based units of
assessment carrying 4 marks each with sub-parts.

There is no overall choice. However, an internal choice has been provided in

some sections. Only one of the alternatives has to be attempted in such

questions.

SECTION A

Select and write the most appropriate option out of the four options given for
each of the questions no. 1 to 20. There is no negative marking for incorrect

response. ) 20x1=20
1. Given below are the structures of some hydrocarbons. Select the two
structures which are related to each other from the given options :
7YY AN
| ..
() H—(|3—(13—C=(13 (1) H—(I),—.(IJ_,—(EJ—CIIF—H
II-I II-I H H H H H
H H H
| | | H H H
SRR R & bocobom
P h C _ _ _ = .
H—C—H H H H
|
H
" (A) () and (iv) (B) (i) and (iv)
(ii) and (iH) (D) (i) and (iii) -
*31/3/2* O [P.T.0.)
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2. Choose the incorreel sinfe
stnfement nhout the camman poaction naed in

hydrogenation of vegetable oils

(A) Tt is an addition reaction,
(B it talkes place
) takes place in the presence of nickel or palladium calalysl
‘ 4 X a .
The product contans only single bonds hetween carbon atoms
\4(D) It-is an addition reaction which occurs in the presence of an acid
catalyst.
3. Consider the following chemical equation
p Al + q HgO _ 51 AlLOz+sHy
To balance this chemical equation, the values of ‘D, ‘q, ‘T and ‘s’ must be
respectively :
A 38,2 2.3 B) 2,331
\ﬁﬁ/) 2,3,1,3 ® 31 2,2
4. Study the following cases :
i) CcuSO, + Mg R U
4
(ii) FeSOy + Pb—
X
(1i1) CaSO4+ Al —
Jou
(iv) 7nSO4 * Ca— ( o9
. ; will form is/are :
The case/cases in which new product(s) 1
) Only®
(B) Only (iit)
(i) and (iv)

[ P,T.O. 1
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6. M

choices provided

N
Coluumn-1

ateh C
ch Column-1 with Column 11

o —
(ORI *'
nad wele

(0 aeleel the correct option from the

A Rite of farl e s ,
e of fortilisation of eggz wilh the sper l Colummn-f]
. Site of i . 10 sperm () v
of implantation of embryo ‘ ki
[ C. Sill‘ Uf l‘nt.r\' 01‘ INEY . . . ‘ii) “t(‘l‘ll;:
| tract ¥ ol spera iibo o female reproduetive H (i) Oviduel
\ d.  Site through which the waste mnterinla generated | (i
\ by the developing embryo are removed ‘ ' i} Flesnia ;
L
- E"f) (l‘[’r-‘/]/.
(A)  a-(ii), b-(), c-(v), d-(iv) )
(B)  a-(iii), b-(i), e=(v), d-(v)
() a-(iv), b-(ii), e-(ii), d-(1)
(D) a-ii), b-(id), e-(1), d-(iv)
T The part of the hind-brain controlling involuntary actions such as
salivation and vomiting in humans is :
(A) Cerebellum (B)  Cerebrum
(C) Pons D) Medulla
8. Select a pair of bisexual flowers from the following :
(A) Papag;a and mustard | (B) Hibiscus and mustard
() Hibiscus and papa% (D)  Hibiscus and watermelon
i . ation in the areas of
9 The plant hormone present in greater concentration 1
rapidly dividing cells is .
) . (B) Cytokinins
(A) -Auxin o
) (D) Abscisic act
(C) Gibberellins i
k tensions 0N the cell gurface t0 take in 1€
: like exten
10. Temporary nge” )
formed n: \/&B) / AmOUba
cium . ,
(A Paramo¢ (D) Rhizops
; nia
© Leishme [P.T.0.]
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(A) 3R -

e A _____2

A\ wire of 1 i
ength p
iy 1&, f 18 gradually stretched so that its length increases to 31
k L i ‘ . S ays b
al resistance 1s R, then its new resistance will be :

6R
©r R M) 2R

>

Which one of the following statements is not true about a bar magnet 7

(A) It sets itself in north-south direction when suspended freely.

(B) Ithas attractive power for iron filings.
c) It produces magnetic field lines.

(D)  The direction of magnetic ﬁeld lines inside a bar magnet is from its
north pole to its south pole. -

- o . 4 3 _
] o ‘ 13.  Absolute refractive index of water and glass 15 = and 5 respectively. If
L . . . .
the speed of light in glass is 2 x 108 /s, the speed of light in water is :
2 L -
7€ ¥ | ;
T 22 B) s
L (B 3
D) —m/s
(C) %6—111/8 D g
’ | | fine dust
: h a region of very
light passes throug
7 .14, When 2 peam of white hgtthat - atters the most i1 that region 18
IR 27y a_l’thleS7 the COlO'l.lI' of hg
Vg ” P - (B) orange
g 3 { cv (A) | o) yenow
:/\, v 9 4 7

~
5 of the ma gnetlc
15. The Strengktlt 1enoid does no t de pend upon ‘ L‘f\o{
s oht 80 [
(\7 ! e sirets tion of the tube of the golenoid (77 us
L a of cross-5¢ e solend!
b A 4 JM/. Ar J— nit length 1™ g WA
® N il ent flowing through ¢
lre_ction fcu soleno {P.T.O 1
© PP apormecr T
Mate
(D)
s 1219% B
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16.  Other than the abiotj

1otic com i

Are 10f Toquired |- e, gﬁnents \:vhlch of the given hiotic component,
s(;]f-sustaining i aquarium with smal] herbivorous fighes :
61 : |
el Tz:ratlc Plants and aquatic animalg
i Decoé:‘rsl;nal plants and tey restrial animalg._~

0s leri
% ers as bacteria and fungi

Consumers as clow;
N fishe : -hi
(A) (1) and (iv) o a“i;% ‘;_hms ,
© @) and Gii) . (3 a::d(?l))
v

17 to 20, two statements are given — one labelled as

other labelled as Reason
(R). Select th
ons from the codes (A), - “as given

For Questions number

Assertion (A) and the
answer to these questi

below. (B), (C) and (D) as given
(4)  Both Assertion (.A) and Reason (R) are true and Reason (R) is the
®) correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
-(C)  Assertion (A) is true, but Reason (R) is false.

(D) - Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : In our actions of writing or talking, our nervous system
communicates with the muscles.

~

Reason (R): Cranial nerves and spinal nerves form the peripheral
- nervous system.

18.  Assertion (A) : Use of jute bags for shopping reduces pollution. - u(ﬂ )
Reason (R): Jute is biodegradable and its bag may be reused as and

when needed. ¢

19.  Assertion (A) : Hydrogen gas is not evolved when a metal reacts with
nitric acid. L(')

fuci s the
Nitric acid is a strong red‘ucmg agent and reduce

" Reason (R) : . ‘
'R hydrogen produced in the reaction to water.

each other. | N

Magnetic field produced by 2 ba;;:i magnet is a quanuty
itude and direction.

that has both magniti ] ‘ L, —

Y Al
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SECTION B
Questions no. 21 to 26 are Very Short Answer Type questions.
21. (&)

List the ible sour ' i
t .lhl. possible sources of energy required in decomposition
reactions. Nustrate any one with a suitable example.

oo

OR

(b)  What is observed when hydrated ferrous sulphate crystals are
heated in a dry boiling tube ? Give balanced chemical equation(s)
of the reactions(s) that occur(s). 2

99. Giving reason, state the advantage of using baking powder over baking
soda for the preparation of bread or cakes. 2

93. State the main function of arteries. Why do they have thick and elastic
walls ?

24. (a) Explain how the proteins control the ‘characteristics’. 1n an

. organism with the help of an example of ‘short height trait in pea

plant.

Lo

(b) Name the information source of making proteins in.a cell.

; | ad the
25 (a) A student has difficulty in reading hlslte:tbookls\I l;zecti Tieefect g
. a . < i i the last TOW.
hile sitting in t .
blackboafd C1e; ﬂ}; j; Sluffering from. List two reasons due t0 which
en

i i
Write the nature of the lenses required t0 correc

Lo

this defect

: ; OR . - lm \\L
J ‘ of light falling
'. . th of & &Y Eln b

. to show the pa j ar glass pris™
5 () Dravw 2 ray diagra™ faces of a triangul b

| N 852
 of the refracting = L

i quely on o - it.

Obl(;qmafk the angle of deviation sistor of 40 Q mnnec:;d

an to a re . 1b e
» sends 8 curre f2 " octrical €08 pplied BY 2

26, A yoltag® sourcnunutes Calculate the
] .t for 5
L 3 across !

Tou ¥ gource: [p.T.O-l

_%ﬁ:c;_ - 0 # :
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g7. How 18 a double displacement reacti o
reaction ? Txplai . b reaction different, from a displace :
! Explain giving ox; i § m a displacement
equations, xample in the form of halaneced chernical
98. (a)  Common salt is an i ;
P ! ‘3‘11-185 an important raw material for various chemicals of
y use. ate | 5 : 23
5 B : tate 1n brief the method of preparation of
1) Sodiu - N .
oo 11‘1 1tlydlo'mde, and (ii) Sodium hydrogen carbonate from
it salt. Write balanced chemical equations of the reactions
1at oceur.
OR
(b)  Design an experimental set-up to demonstrate that “Alcohol and
glucose contain hydrogen but are not categorised as acids”. Also
give the reason to justify this fact.
29. (a) Enlist any two nitrogenous waste products removed from the blood
of human kidney.
(b) Name the capillary cluster formed by the branch of renal artery iv
the Bowman’s capsule.
(¢)  Depict in the form of a flow chart the path of the urine formed in
each kidney until it 18 finally passed out through the urethra.
: N o
30. A pure pea plant having round (R), yellow (Y) seeds 1S crossed mﬂ
; l ] ently
another pure pe2 plant having wrinkled (), green (y) seeds. Subsequentl
F, progeny is self-pollinated to obtain Fa progeny.
| ' F, generation look like ?
(a) What do the seeds of ¥18¢ .
. +ions of traits in seeds of Fa generation.
(b) Give the possible combination
i ir ratio. o
Also g e .o geeds of new combination of traits 10
((} State the reason of obtaining
Fo generation. ) o)
*31/3/2* E

pstions no. 27 to 33 are

SECTION C

Short A A
hswer Type questions

Q)

(N

3

<

v /
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. A person has 1o endi
31. : ] o keep reading material much beyond 25
from the eye for comfortable | N wond 26 em (say at 50 cm)
) ' able reading. Name tl ‘ " yisi
R ) _ J . INE he defect, of vis i
cuffering from. List tv ok of st (s 15
wo causes responsible for arising of this defect. Draw

a labelled iagr ;
) ) diagram  showing correction  of  this defect using
iy AT oL bl B

CQ

eve-glasses. Are thes 5
ye-glasses Are these glasses convergent or divergent of light 7

(a) E;'Z;"Oz ;i:’(f“l}::nil]‘lf‘;‘:;llll to show the pattern of magnetic ﬁ‘eld

1ZoNLE ite board due to a straight current carrying

conductor pnssing perpemlicular through its centre. If the direction

of current in the conductor is vertically downwards,
direction of () current, and (iD) magnetic field lines.

umb rule and check whether the directions

(b) State the right hand th
nce with this rule.

marked on the diagram are in accorda

nidirectional.” Give two reasons for

(a) “Ina food chain energy flow is 1

33.
the given statement.

er level, hoW much

lable at the produc
s ? Give reason

(b) If 10,000 J energy 18 avai
i -1able to the secondary consumer

(31) ¢ o oon

(¥ Scanned with OKEN Scanner




35.

(b)

(a)

(1)

(i)

i)

(i)

L

nt wishes
mirror usi 1es to study the image formation by a concave
" using e y & concave
imqg . 1g candle flame as object. State the type of the
age formed by - R o
v the — : .
v the mirror and mention the change in the

image forr .
1 o :
ned, if any, that he observes when the candle

A stude

flame is gradually moved away from the pole of the mirTor.
Dr'aw a ray diagram to show the image formation when the
object distance is nearly equal to the radius of curvature of
the mirror.

on an automobile has a
ted at 6:0 ™ from this
on of the image . ;

A convex mirror used for rear-view
focal length of:3:0 m. If a bus is loca
mirror, use mirror formula to find the positi

of the bus as seen in the mirror.

o
Uy 1

\\ &

Consider the following metals : g 3
5 (- —

0 ! :
K, Ca, Al Cu, Ag; F'e

alka 15 * :
: [ p.T.0- ]
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M Q With the help of balaneed chemical equations state the

process of extracting (1) mereury from ita ore called cinniabar,
and (11) copper from its sulphide ore.
(i) Silver and copper articles slowly lose their shiny surfaces
when exposed to air. Name the compounds formed on

(D) silver articles, and (IT) copper articles in the form of
coating. 5

6. (@) (1) Tdentify the parts X’ and Y in the figure given below :

tructures produced by the

wish coloured S

23
labelled as . el
4 art Of the proceSS by WhlGh
: ame
5
a flowering plant.
r"VT.J
[ P.T.0:]
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{‘-‘1\ cn |l| o .
l e 1 ]I n\()fl( U[
re |H(}(]Hf||(”| h(
YW ]ll the

(L) “ e j
)

, t ;n 1 Corgar i ] C i
[ Ilt |[ lle unice l-l 1T Organisin 1 ” e ll(igl'arrl.

(iii)  Lis '
) st any tw
o advantages of
o ) es of as :
1€p10duct10n_ asexual repr{)duct”ﬂl over sexual

(i V) Iq ame e
4 a}ld X 1
1 -y plaln any one lnode of a sexual Tepro duction
o Served 111 Iiy“r(l. "p o “""10 )

SECTION E
The following questions 7€ Source-based/Case-based questions. Read the case

carefully and answer the questions that follow-
¢z’ is used for

4 below aré

37. A and ‘B’ are two Salts used for washing purposes: Salt
11, 1L and IV as mentione

pathing also. Four test tubes I,

taken. |
1.  Raip water + solution of salt ‘A
I Rain W ter + solution of salt B’
111. Tubewell water + golution of salt ‘A
. i f salt §
Tubewell water + golution @
il . r one by 1€ almos®t identically for the same b
e tIiStltI;b he of foam f ed in ch test tube 18 note
e .
o hich one f the ur test tubes 18 the foam formed th 1
(a) In whi¢
/ 'nirnum 1
' . tiate ween 58 ¢ A and salt
(b) pifferen® @ # i

(¥ scanned with OKEN Scanner
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at are o
an alkalj (g
the ve;

sterg ?
rs 7 What, happens w

ay sodium hydyoxi

hen anp ester reactg with
wetion,

) ? i
de) ? Give chemical ecuation for

OoRr
(¢) (1) What ig the cause of hard
observed {hat while 1

and an insolubl

ness of water ? Sometimes it is
athing foam is formed with difficulty

. e substance is formed. Name this substance
and write the cause of its formation.

38.

A person while climbing up a rocky hill comes into a panic state and fear.

His body starts reacting in a “flight-or-flight” condition to adjust to the
dangerous and stressful situation.

Based on the above facts, answer the questions that follow.

(a) (i)  Name the hormone secreted in the blood of the person in this

situation. 3
OR | |
(a) (1) Name the source gland of the hormone secreted in this .
condition.

S th
(b) State any two responses in the body of the person as a result of the
tion of this hormone. . _ . S
;;Cre does the action of the chemical signal in terms of hormone
(c) ow

: i 1s?
differ from the electrical impulses via ner"e_ce‘l SU —
i diagram, an electric circuit co;;s},isgmz g o oae ks
39, As shown1n the a1 fg{ﬁ \’I each, a plug key Wld o tﬁ ¢ observation table
voltmeter, 4 ((:iells 01 eter readings were recorded 1
mn
Voltmeter and @ .

for four arrangements s & Ry in gap XY

_ only resistor
t No. 1 -—on
Arrangemen

. . <Y

t No. 2 - only resistor Ry in gap 2t w
Aﬂangement No. 3 — Resistor nsserlot WEML »
Arrangemen ;

ent No. 4~

[ P.T,O- ]
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on the o
servat :
figure were drg Wions, four v | raphs A B e ———
awn, S wrapha A, O
otudy thes , Coand 1) ag
Vv these graphs. -

“"'"-'/ll n

| !
o
»
(V]
T~
) 13
o,
g
S
— - A
O V (volts) :
(a)  Whi
Zich one of the graphs represents the series combination of Ry
aI]d RZ 9 < 1
1
(b)  Which one of these graphs represents the parallel combination of
R1 and RZ 2 . . I
Y =
(c) (1) Show an arrangement of three resistors, each of resistance

10 Q, so that the combination has a resistance of 15 Q. Give

justification for your answer. 9
OR |

(c) (i1) A battery of 6 Vis connected with a series combination of
five resistors of 01 @, 0-2 Q, 03 Q, 0-4 Q and 05 & ng
much current would flow through the 0-3 Q resistor 7 Justify )
your answer.

: (27 B
"31/3/2*
=7l
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